ol

N =
S e
| I
~ A
0 ©
~ N
k8
I
I |
~ A
O ©









-15 < o, £(2) 9

f(x) = =x® + 3x +a A f(-2)

A~
s

oA
~

ol

@ 9 B 11

A 2



OGS y = x4 x—a o TATAF A (3, 5), (1, b) & A

@a:B,b:_7 ®a:5,b:—6

®@a=7b=-5 @ a=-7, b=—4

B a=-5 b=-5









o] ZEA y = 4x2+2 ] 1L} 9HAS] ZAo] 2] ]

@ y=4x*-1

@ y=4(x+1)2-1
® y=—-4x2+2x+3



oA

o Zo] ] 2}l

® 0,606 ® 0,6,

® 9,0, ©,

© a6

® 0,6, ®



10.

oAty = —x* O AL E x FO| WFLE -2 ‘_]'
TR A x o] gro] F7hE W] y o ZLE F7HeHe x
=7

D x>-2 @ x<-2 ® x<?2

@ x>2 B x>0



=3(x=1)?+2 o] I ZE y Fo tiste] HiHol-Eotd

11. oAy =
1, k) € Atk o W, k °f gt& F-5HH?

xq(

-3 -2 0-1 < ®1 ® 2



o X
T:)—l_

=

)2+

3

o 1
2

syeit

A

y 9 gk
]_
=

S

@
X
>
10 7
F—_]
s X
], x 2] 7
H/]\-o]
=
[e)
]'



JEEEL

J
2

(4, 8), <b,

OJZ Gy y = ax? O] DIt T A

13.



80
— -10
3 ®

@ -

— |



<k

TR

oju
.

€

R

Ty =ax+b o L7} o=

bt

Q1=
=

15.

>

y}l

Oz



